Addition Un-Chiffre (D)

Evaluez chaque somme.

9+2= T+5= 8+9= 3+9=
b+6= 3+8 = 745 = b+ 9 =
8+5= 348 = 843 = 044 =
T+4= 1+9= T+6= T+3=
44+9= 9+7= 546 = T+9=
6+4 = S+2= b+0= 3+8 =
T+4= b+0 = 947 = 6+4 =
24 9= 6+ 8 = 34+9= 248 =
6+4= 6+5= S+5= S+2=
9+6= S+6= 4+7= 446 =
9+4= 9+2= 9+1= T+4 =
8+ 7= T4+ 4= S+9= 8+ 7=
2+8 = 2+8 = b+8= 248 =
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Addition Un-Chiffre Solutions (D)

942=11
5+6=11
8+95 =13
T+4=11
44+9=13
6+4=10
T+4=11
2+9=11
6+4=10
946 =15
944 =13
S+7=15
248 =10

Evaluez chaque somme.

T+5=12
3+8=11
3+8=11
14+9 =10
9+7=16
8+2=10
5+0=10
6+8=14
6+95=11
S+6=14
942 =11
T+4=11
2+8=10

S+9=17
T+5=12
8+3 =11
T+6=13
5+6=11
5+95=10
9+7=16
3+9 =12
8+0=13
447=11
9+1=10
S+9=17
5+8=13

3+9=12
5+9=14
9+4=13
T+3=10
T+9=16
34+8=11
6+4=10
2+383=10
8+2=10
446 =10
T+4=11
S+7=15
2+8=10
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